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TIME AND WORK
7. {5t rd 31 @ ®3 d A7 Ul"ﬁa | 7. Manish takes twice as much time as Anuj

, QAT SR @9/ @9 T WY @A g and thrice as much as Vansh to finish a piece

WU AP P 1 RAT W ST TPA 1 of work. Together they finish the work in 1
maﬂwmﬁﬂmmﬁrﬂmm day. What is the time taken by Manish to

fa=n 82 @ finish the work?
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TIME AND WORK

8. Y, fAadw A d DI G LK N PRIR B MR 8. Akash is thrice as good a workman as Vivek
gqfee fAd® ¥ 60 &7 0 gy A 'l[l'!f g and therefore is able to finish the job in 60
$1 # W& 81 A TP WY B B §Q days less than Vivek. In how many days will
R R AR e Sy they finish the job working together?
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TIME AND WORK
I.ABIE Rifasd s AB A RAAUF 9. A takes 5 days more than B to do a certain

o ¥ ok It v F FA A ¢ F 9 3= job and 9 days more than C to do the same
mmﬁtmmsmmuﬂct job. A and B together can do the job in the
mmﬁwwm?mﬁsﬂmﬁ same time as C. How many days A would
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TIME AND WORK

12. x 3mgHt fedt &rd &t 30 RAT A aw 12. X number of men can finish a piece of work
u@d g1 afe 6 et ftrs #1a, &t srd in 30 days. If there were 6 men more, the
10 i3 &0 F e & wFHar 411 refaal work could be finished in 10 days less.
@t go wen o 82 What is the original number of men?
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TIME AND WORK

13-@% 300 f&=1 o 15 &t &dt wew 13. An engineer undertakes a project to build a
ﬂﬁuﬁmwmtéﬁ?m road 15 km long in 300 days and employs
m%mﬁmﬁﬁgﬁmtl 45 men for the purpose. After 100 days, he
100 31 & a1g, I/ Fra g1 @ 5 e & finds only 2.5 km of the road has been
&ad 2.5 Mﬁ‘{“b"ﬂ g WWEI& completed. Find the (approx.) number of

™ 31 & fog 39 fraa @y sifafvea extra men he must employ to finish the
mﬁguamﬁﬂﬁ.mml work in time.
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TIME AND WORK

14. 15 31GH T& H &1 210 RAT d o 14. 15 men could finish a piece of work in 210
woa §1 AT 100 BT F @ F, 15 gays. But at the end of 100 days, 15
fafaa sedt Faifera g1 81 o W additional men are employed. In how many
ﬁah? f&=t & g1 8 e more days will the work be completed?
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TIME AND WORK

15. 0% A% B1a 7 1,000 AHI S AT 15. 1n a garrison, there was food for 1000

g &1 vie= gar g1 10 ﬁ’ﬂ & qlq, soldiers for one month. After 10 days,
1000 WWMﬂmﬁmtl 1000 more soldiers joined the garrison.
ﬁ g¢ Wi & e @a d®_PTH ddi How long would the soldiers be able to
fflﬁ'ﬂ? 0-/"“”1:‘ carry on with the remaining food?
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